EARAROBEEIERT — 2 N— IBISH —F

2017858260 (&) 4EXAH5H

12R Ao’ A%)

C1 #5%—&

‘ [R1&] & ‘ [RERBB] — | & (&) 14000 &

[AE<%] 1 7% :1,800,000 § ~ 27&:720,000 F 3 7 :450,000 4

4 7% :270,000 B 5 3& :180,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S5 it 6 | REEZ 1:28.8 3-1-3  |39.5| — 1 483 | BEEIEIS (KHH)
wOr7—#4 50 S 4y |EERE
LA TAS v — B h—3r(=— FUFSTr— L
— #1138 :29. —6- . - HFEEE (KH)
SR kS it 4 s 1(229)2 6-6-5 | 39.7 3 (4_236) IEE%
R:y=ZZ24—3=24— B:YY—-F>RO-X thoEsE
N el FAm . —8— - YETIZ (k)
B HI— 1 it 5 = 1.(360>.4 8-8-8 | 40.8 6 <4+648) il
Z:8d B:o-7>NnNE-N ke
= 4 5 | FEMER 1:30.7 5-4-4 | 41.3| — 9 476 | ERRIK (KFH)
AXAGAYT TS 54.0 (1 3/4) (+2) () hnEF4is
LA xIELT N B TIV—NERZR iEsZhes)
TS 5 | EPEX 1:30.7 10-9-7 [41.1] — 13 | 503 |ZAEMMH (KIH)
IINTTyYa " 5.0 (75%) (ta) | ) YZFLaT
A4 TAT v — B:A4A4T7ELRFAT EiERE
=, =, = LI ER+ :30. —13- . — BEfE= (K¥#)
S9,5%59, it 4 o 1(13/02)8 13-13-13 | 40.0 7 (4_978) e
RIS T7oI—Ib B:TXATX BN
— = e EEE : -1 - TeILBETE (k)
715|777 714-U7 o] Q5o 1(73ot§a e ° IEZ? BEMEAREE
LY LTFAN—F BT FNT—IVRT— L — XK — 245
o S s 5 | ARk 1:31.2 4512 | M.7| — 10 | 485 |mATER (R3H)
8l7/12| 7>7>7—JLK 54.0 (1 3/4) (-12) |FImE—
L:7L>FFE2T« B:wtends E- -}
S 4 4 | BEX 1:31.3 10-11-9 | 41.2| — 11 501 | YETFEA (k)
oRl 3| /T AV 54.0 (172) 6) |BAEE
R:D=7T74—-X B:T)wE—h—-35 J—HrTy—LA
: S$ 4 4 | FHEESE 1:31.4 1-1-1 21| — 4 442 | 1BKEL (INHK)
T > PIRELSA 54.0 (7€) -6) (&) REHE
L:vA7% BiAvYFq—= E3ubrer)
- — N BEHEI—BR : 7~ — EHF#H=- (KH)
1 NEEIE P it 4 B 1.(311>.6 6-7-6 | 42.1 12 (4_678) el
LTIy EAF BEVRU—FUIZ b HTHIS
7 B 4 | HilEThEA 1:31.8 14-14-14 [ 40.6 | — 14 | 505 |USEER (KH)
1271 F-774-A 54.0 ) Ciy | B
R:T—9TA—-X B:STT7I9Fa7)— HET7—L
S R bk ] :32. -12- . — SR (KFH)
131814 TAZTITIY > 7 o= (11312/40) 12-12-11 | 41.8 2 (4_852) g%?k%*?&
L:T7NHtEy b BYYHYLT Ezdie]
o8 s 7 | WHRRE 1:32.5 9-10-10 |42.6 | — 8 491 | BRIE (K¥H)
14/5| 8 2 kAR 54.0 (2 1/2) (-5) FriEfE—
L:d—IWRT7Y2—)b B:A>F«d57 M7 7—L4
® 1—F—@EBIERL
13—7-—
2o=5"= (2,7),9,12,13,(1,4),6,8, (3,10) ,14,5,11
== (2,7,9),13,12,1,4,6,10,8,3,14,5,11
43—+ — 2,7,9,13,1,4,10,6,3,8,14,12,5,11
[ N5
B 9 360M 714K 1-9 450 e E 1-6 970M JEE 1-6-9 3,400/
B B 9 1609 6-9 1,010 e B 6-1 1,910 EH 9-1-6 15,820
1 180H4 1-6 1,020H B & 1-9 1,020
6 330M B H 9-1 1,7408

ABICOVWTRDTEEERROODE. TR LIV,




